Ghe Weekly Rigor

No. 206 “A mathematician is a machine for turning coffee into theorems.” June 2, 2018

30 Problems in Clearing Fractions

(Part 2)
ANSWERS
1.8 2. 15
3. 4 4. 8
5. 12 6. 3
7. 6 8. 12
9. 14 10. 9
11. 30 12. 24
13. 24 14. 35
15. 15 16. 5
17. 12 18. =5
19. 4 00, 2
23
21. 2 22. 15
23. 5 24. 6
25. 7 26. 9
27 2 28. 40
11
29. 16 30. 3
SELECTED SOLUTIONS
1. x+>=10 7.x+>+Z=11
4 2 '3

x —_ "
4-(x+3)=10-4
4x+4-§=40
4x +x =40

5x =40

x =28

6-(x+f+f)=11-6
2 3
6x+6->+6"==66

2 3
6x + 3x + 2x = 66

11x = 66

xX=6



3x 2x X 43
B.x+—+——=-=—
5 6 2 2

3x ; 2x _x\ _ 43

43
2

30x+30-2+30-2-30-2=130-
5 6 2
30x+6-3x+5-2x —15x = 1543

30x + 18x + 10x — 15x = 645

43x = 645
43x _ 645
43 43
x =15

25 2 3 7 3
(5 = (52229

x+3 x—1 _ Lx+H42 Lx+5
21(x+3)—14(x—1) =6(x+ 42) — 14(x + 5)
21x+ 63 —14x+ 14 = 6x + 252 — 14x — 70

7x +77 =182 — 8x

15x = 105
15x _ 105
15 15
x=7

-1
17. 2—-"==x-9
3 11

33-(f—x;1)=(x—9)-33

3 11
33-2-33-2==33x—33-9
11x — 3(x — 1) = 33x — 297
11x — 3x + 3 = 33x — 297

8x + 3 =33x— 297

300 = 25x

300 _ 25x

25 25

12 =x

x—4 x—1 xX—26

B~ -7 =

-4 -1 -26

60-(" _x )=" .60
4 3 5
—4 1 —26

60-—=—60-=—==60-2
4 5

15(x —4) —20(x —1) = 12(x — 26)
15x — 60 — 20x + 20 = 12x — 284

—5x —40 = 12x — 284

244 = 17x
244 17%
17~ 17
16 =x

“Only he who never plays, never loses.”
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